TheatreMax Permanently Tensioned Screen
Installation Instructions

Slide 4 x M6 nuts into the long side
slot,and | x M6 nut into each short
side slot. (FIG 1)

Fl

FIG 2-1

M5x20 SCREW

Insert plastic L-shape corner
pieces to connect them (FIG 2)

Connect short side last by inserting both corner
pieces simultaneously. This will prevent distortion

NOTE: Refer FIG 2-1

and possible damage to frame.

Insert steel rods into four edges of screen fabric -
short edges first (FIG 4)

After corner pieces have beeen inserted,
use the 10 x M5 screws to fix them in place.

%

hg| &

Insert the spring hooks into the frame slot, /A= = === = E N
and turn 90° (FIG 3) - FIG 4
FIG3 ) !
| ) u
(
(
T DETRIL { T

DETAIL ‘A"

- _ SCREEN FABRIC

®5 STEEL ROD

Attach the prepared fabric to the frame, using o TeraTe ey

spring hooks in frame - short edges first.
NOTE: Slide spring hooks so that they are
centred in the fabric hole.

Check and adjust for uniform flatness of fabric.

%
%

Attach screen frame to wall (FIG 6)

FIG/

®8 PLASTIC
RAWL PLUG
TO THE WALL

abi

a brighter image

Use 12 x M6 screws to fix steel plates to frame (FIG 5)

M6x12 SCREW

M5x50 SCREW

SCREEN FABRIC

IG3 Education Ltd t/a A Brighter Image.
PO Box 7289 Warringah Mall, NSW 2100
E: info@abimage.com.au W: www.abimage.com.au



